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2024
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( For New Course Students )

Full Marks : 80
(Part-A = 40 + Part-B = 40)
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( For Old Course Students in lieu of Project Works )

Full Marks : 100
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Time : Three hours

Those who appeared till H.S. Final Exam.-2023
have been treated as Old Course students

The figures in the margin indicate full marks
for the questions.

PART-A (F - 91%)
For New Course !

@R NoNI carties IS marldeachi (ayfoun) e s 1x4 = 4
@WNoR2 cartiest20riaresteqcly (AN flue) i e s i, 2x5 =10
Q. No. 3 carries 3 marks eacl (ANY £W0O0) ..........cccovrvvvevrirnns 3x2= 6
Q. No. 4 carries 6 marks each (any tw00).......ccocevevvsinnecces. 6%2 =12
Q. No. 5 carries 8 marks each (Any ONE) .......cccovevvvvereniiiiess 8x1= 8

Total = 40

PART-B (% - =)
For New Course

Q. No. 6 carries 1 mark eacl (Any four)..........ccccoeveune. Tt = al
Q. No. 7 carries 2 marks each (any five) ..o, 2x5 = 10
Q. No. 8 carries 3 marks each (any two) .......ccccccoeueuneee.. 3x2'= §
Q. No. 9 carries 6 marks each (any two).........cccovuene...... 6x2 =12
Q. No. 10 carries 8 marks each (any one) ..............cc........ 8x1= 8§

Total = 40

PART-C (5 - SI#))
For Old Course (in lieu of Project Works)
Q. No. 11 carries 5 marks each (any four) ........................ 5x4 = 20
Total = 20

Contd.



PART-A [ -9

Answer any four of the following questions : : 1x4=4

weTo [l 2RI Rcerer bifRor9 ©ed ful 8

(i) ~What is intermediate good ?
Y] & IR [ @2

(i) If MPS = 1, what is the value of MPC ?
T MPS = 1 =, MPC¥ i 319 292

(iii) Primary Deficit = Fiscal Deficit — : - (Fill in the blank)
2Nl Qi = amrﬁﬁmfﬁ— I (WﬁﬁqW)

(iv) Which one of the following is not a quantltatlve credit control
measure of the central bank ?

eE (S0 (A (@ AReRanE A Faged owfe qe7e
(a) Bank rate

[ 2
(b) Open market operation
cieTl TSN AfeEa
(c) Variable reserve ratio
ARSI Ao A SRS
(d) Direct control
o fEEd

(v) Write one merit of flexible exchange rate.
AfEaEE [ 2 @by IgRal R

(vi) What is GDP deflator ?
GDP e 7

Answer any five of the followmg questions :
o eCARE fgeiel Apola Ted i g

(i) = Differentiate between capital expenditure and reven
TG AR Sl e A e AL F1i

(i) What are the components of hlgh powered money ?
THTe i U ¢ W & 52

(i)  What are the transactions that are included in the
of balance of payments ? capital account
ARCeIE o el 2o & [ 9 weve @ )

(iv) Define personal income and personal disposable incom
ifeste =g s afedre AT SRR FKE! @12 | i

2x5=10

ue expenditure.

34T ECON (2]

() As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the value of the
multiplier.

Rl 125 @i 59 g w10 Gl S 500 b 6l Jia | ¢4 T
e =1

(vi) Distinguish between stock and flow.
TGS T AqITI qEE ALy e

(vii) Write any two implications of revenue deficit.

Tz 4l R 701 @i ol

Answer any two of the following questions : 3x2=6
weTe Al eHERE [[epieal b1 Bed [l 8
(i) Write any three limitations of barter system.

Hfewa 2| Rl fomer SPfkal S 5 |

(i) What is balance of payments deficit ? Write two causes of balance
of payments deficit.

ARTAEE FTela Wit 2 #ReaiE el qifbs 7o F1d S 341

(i) Write a short note on :
Autonomous and Induced Investment.

53] (Gt feralt ¢
Fog SiE Shecee [l

(iv) What is a government budget? What are the components of
government budget ? :

BEI91 S’ F 2 Baﬁw@ﬂwﬁﬁ?

Answer any two of the following 6x2=12
Ol RPTIEA [Pl gb19 Ol vl g

(i)  Discuss the motives of demand for money ? What is ligquidity trap ?
S5+1=6

wwﬁwmﬂﬁmwmwlmw%?

(ij) Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
QIS S Sl 91 S Aafes! BaeE Dl Tl | O O ARTS T&E
v I GIOE TeAlve Sl 4 |

(in Rupees crore)

(I o=le)
(i) Mixed income of self-employed 400
wifee weae s wm
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(in Rupees crore)

) | (S Bets)

(i1) Co/mpensatmn of employees 500
R fral wiooEd

(iii) ’Pfet factor income from abroad (-20)
ROe= 211 (2= et 9

(iv) Net Indirect Taxes (F%5 #itarF F9) =100

(V) Eonsumption of fixed capital 120
(SR GREE R

(vi) Profits (511®) 350

(vii) Rent (%) 100

(viii) Interest (3W) 150

(iii) Discuss the functions of commercial bank.
Tifdfens @ FEEe! SAcEDal =

(iv) Define aggregate demand and aggregate sup

: pl
following table and determine the equilibrium Y. Complete the

level of income :
2+4.=6

S Sifent el A aﬁsﬁﬂaﬂi@i%QMW\sﬁmmef ©
S

SRRy SIS [eE 41 8

Aggregate Consumption Savings Investment ﬁ

Supply - gegf:gate

A i | St A GREE st
(AS) (C) (S) (1) bifzwt
900 780 30 e L)
800 700 40 ek |
700 NG 20 40 FT s iy
600 540 40 Fee T
500 460 40 e T
400 380 40 e ORI
300 300 40 et
200 220 40 it e
100 140 40 ree B T
——-—‘_——'_‘"‘—‘—-—-

Answer any one of the following :

@ed eI i @b Sed vl 8 8x1=8

(i)  What is fiscal policy ? Discuss the impact of changes i o
expenditure and changes 111 taxes on equilibrium lncome €Inment

Wﬂ%%?%ﬂ%@cmmﬁwﬁmwwg%mﬁg
ol SICEAD= <54 | A RS

34T ECON [4]

6.

(i) Explain the determination of exchange rate under flexible exchange
rate system.

AR R 2 e R 29 R 3 w4t
(ii)) Write short notes on : 4+4=8
5 (BRPl T
(a) Demonetisation
ARG
(b) Fiscal Responsibility and Budget Management Act, 2003
AR WG AR OIS AEs ARG Wiz, 2003

PART-B / 4-9I9

Answer any four of the following questions : i 1x4=4
o5 2HERE eelel bifRGIT ©es fral ¢

(i) What is underdeveloped economy ?
wEe i e 6 e

(ii) In which year World Trade Organisation (WTO) was formed ?
e Ty 7iE (WTO) (FH 57© 90w (Rfeei?

(iij) Write the full form of SHG.
SHG = 7= Fel fe1all |

(iv) Write one objective of NITI Aayog.
NITI S G5 Gy fo7all|

(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(c) milk production
(d) agriculture production
G Red Tl wiftd —
() ¥V CAMAA (0O
(b) GGIEPT ST GTCS
(c) T BLAMAS (0O
(d) F SAMTE GICo

(vi) Define privatisation.
Ffeaieaed 7@l fal|

Answer any five of the following questions : 2x5=10
o5 GRIAIA Rl Apore Ted fuml 8

(i) Mention two non-institutional sources of rural credit.

Sy A 7D SRR S Srael 4 |

(Choose the correct option)

(&% [es [6IF 791)
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8.

(ii) Write two long-term goals of Five Year Plans of India.
SR A% AAREEE 7o) e e ol |
(i) Mention two’ types of unemployment prevalent in the agriculture
sector of India.

TReq FRES 2bfeTe 72 el aeEl el S 41

(iv) What is the importance of green revolution in the Indian
agriculture ?
Sieq FRHeS GIee ReRe ¢y 2

(v) Write two positive effects of LPG policies in the Indian economy.
srsl weifes LPG Tifeq 75 4ee g |

(vi) Write two merits of globalisation. :
iFEEReR 7o) ARal Smd T4l

(vii) Mention two objectives' of disinvestment.

SEFEeR 76 o SR F4

Answer any two of the following questions : 3x2=6
o= 2l Reeier 719 Tes fuml ¢
(i) Write a note on Industrial Policy Resolution, 1956.

SomieR dife 2%, 1956 9 R «fb @ foralt |

(ii) Briefly discuss any one serious environmental problem India is
facing at present time.

5P SCED <l

- (iii) Discuss the composition of India’s foreign trade on the eye of

independence.
e 2RZEs YReRE e AT A R Wi

(iv) Explain the role and importance of education in human capital
formation.

ﬁmﬁﬁmﬂéﬁ@ﬁmﬁgﬁmm@@aqﬁnw|

Answer any two of the following questions : St
(i) Write a comparative note for India, China and Pakistan on the BAsis

of

(@) Demographic indicators

(b) « Human development indicators

(@) TR SR o

(b) S GEERE FOTRTRS fefes ols, B W sAftwrg o

- (B! 2 Al | ERBINGES

34T ECON [6]

(i) Briefly discuss the challenges India is facing in the context of
employment. y
Rl (emiebs SReTaR AYIH Al AP B0 S 1|

(itj) What is economic reform ? Explain the need for economic reforms
in India. ; 1+5=6
AT FAEA 7 SRS Ui A e el I

(iv) Outline the common developmental successes and failures of India

and Pakistan. 3+3=06
Sl Wi ATERT Serel Teret ois REer [ & il
10. Answer any one of the following : 8x1=8
TR Al @bl e Bes frl ¢
i) What do you understand by agriculture marketing system?
Discuss government measures to improve agriculture marketing
system in India. 2+6=8
A ﬁiﬁ G E! eI 5 ol 2 olgegEe q?ﬁr IEiE E Taw FRAcE 429 <l

HERIRT ATCFATIZ, o F4 |

(i) Analyse the concept of sustainable development. Also discuss the
strategies for sustainable development. 4+4=8
e TR {RACD] RCAEe] <5 | TS e Gee (PR S
4l

PART-C / o-Sid

(For Old Course Students in lieu of Project Works)

11. Answer any four of the following questions : 5x4=20
o izl bifeer 2HE Ted WAl ¢ :
(i) Write a critical note on public debt.

salal 29 FEca «@fb AEbAEE (GRE T
(i) Discuss the sources of demand for foreign currency.
Camee TUIE BIRAE SRPRE SICETbAl S |
(iij) Can GDP be used as an index of country’s welfare ? Justify your
answer.
GDP & €2 (T4 FFepie spaatet 9= SR Al 2 (oS TeR AATH ge
S[5IFCoI |
(iv) What is human capital ? Discuss the sources of human capital.
FE e [ S T 10N PR STl |
(v) Briefly write about Indig as a knowledge economy.
i el ol SReRE R vyrs |
(vi) Discuss the circular flow of national income in a simple economy.
Qe S wefAifow TS bRl SR SCD 54l |
' x
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